"“ ‘v
Name: | \\ o~

Show all work. Make sure your answers are clearly circled, and write neatly.

1 Factor the following polynomiai: Answer:
¥3-27 ’ L . J 4+ O ‘
-, A ! P o S R _‘;v“
2 Factor the following polynomial: Answer:
x3+8 ; N\ 2 \
(X+2)(X"-zx +4)
3 Factor the following polynomial: Answer:
125 - x3 . \
E> . ¢ (5-X)(&b + OA + X )
P =/ " /
4 Factor the following polynomial: Answer:
N\ [ 11y i =\
8x3 + 125 (zx +5) (AX" —I0X +d5)
(zx2)*> + 5>
5 Factor the following polynomial: Answer:
? . r\
8X3-64 ’;’2‘1 _ 1)%&, g‘/tj “‘ - 4+ % “i .?l;{“\/j;
fovN>- »d -
™) 7
6 Factor the following polynomial: Answer:
x3 + 64 (x+4) (XZ= 4X +16)
%, . J \ /
X" +4
7 | Find all the zeros of the function a. Listall zeros of the function as ordered pairs:
using the calculator. Round to the /— r I 0) (1 O i £.84 N
‘:{k T & Y"‘ - ‘/J J L / v/ ) ’ C! ; - (',7

nearest tenths place. Also use your
calculator to find any relative or
absolute minimum or maximum
values.

fx)=x3-2x2+1

b. List any relative minimum values as ordered pairs, or
write N/A if there are not any.

(135 — j2)
L 1as? gy :6’(,‘/

c. List any absclute minimum values as ordered pairs, or
write N/A if there are not any.
/
d. Listany relative maximum values as ordered pairs, or
write N/A if there are not any.
P A
[ O 1)
| Tl B

e. Listany absclute maximum values as ordered pairs, or
write N/A if there are not

any. s I N
- N [t




8 Find all the zeros of the function a. List all zeros of the function as ordered pairs:
using the calculator. Round to the (,_ T Q) ( -1.6.,0 )
nearest tenths place. Also use your I ik
calculator to find any relative or b. List any relative minimum values as ordered pairs, or
absolute minimum or maximum write N/A if there are not any.
values. N /1
N/A
f(x)=-x2-6x-7 ¢. List any absolute minimum values as ordered pairs, or
write N/A if there are not any. .
d. Listany relative maximum values as ordered pairs, or
write N/A if there are notany. N
A [T
e. Listany absclute maximum values as crdered pairs, or
write N/A if there are not
any. 4 A
( 3, “"l>
9 | Draw a third degree polynomial
with a positive leading coefficient, o’ Y
and zeros of the function at-2, 3, /g \
and 5. \ﬂ £
Xz »s-‘;: X=3 X=5 AN | -
t2 t% (X3  (Xx-5) p §
At 2\;) =0 - é ej‘
- < 4""__' A\ "‘,, i :w‘f F ) A: e
(xr2)(X-2)(x »3 o TN A 0 B W WEU
; 2 : -2
X 1 <3 \Sa
X "7’“"»7 (X*X -6 )(X - b@ v
) \-4% A AT / ‘\ / =
e <A | ¢ ~7) 3
= LN S ’ A i
s ~ =i
L’ﬂ ~oxX*-X +3 D) ¥
10 | Write the polynomzal function of
least degree with integral R ——.
coefficients that has the given 5 5@ %
zeros. Write the equation in | ,’\ =X+
standard form. [ — '
x=1,2,-3 ’
(X =) (X-2)(x+2) |

'\/

— 35X 1t "}\‘s
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Write the polynomial function of
least degree with integral
coefficients that has the given
zeros. Write the equation in
standard form.

x=-4,-5,-1

gt (x5 (1)

/ »(_MXL’,'{:( x+ ZC"}(\ + i)yﬁ

Equation:

qx+go]

12

Write the polynomial function of
least degree with integral
coefficients that has the given
zeros. Write the equation in
standard form.

x=0,3,-2

i

A
X (X-%)

X(%“%)<Xf23 y

J/

(xl ﬂbx:) (}Q’%’ 7.) S

(x+2)

Equation:

13

The volume of a rectangular prism
is represented by the expression
x3-x2-8x+12

If the length is (x + 3)

And the height and width are equal,
what is the width of the prism?
Express your answer as a binomial.

\= LWH

XA = O

— & - 23

Width of the prism?
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The volume of a rectangular prism
is represented by the expression
x3 +4x2 - 35x - 150

if the length is (x - 6)

And the height and width are equal,
what is the width of the prism?
Express your answer as a binemial.

Width of the prism?

b
\

Y —2 5
6 ol

|
y

15

The volume of a rectangular prism
is represented by the expression
x3-2x%2-15x+ 36

If the length is (x + 4)

And the height and width are equal,
what is the width of the prism?
Express your answer as a binomial.

\\ v" — | A\ ]
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